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oogd

0 sin 0 cos tan @ 0 sin cos 0 tan 6
0° | 0.0000 | 1.0000 | 0.0000 | 45° | 0.7071 | 0.7071 | 1.0000
1° 1 0.0175 | 0.9998 | 0.0175 || 46° | 0.7193 | 0.6947 | 1.0355
2°10.0349 | 0.9994 | 0.0349 | 47° | 0.7314 | 0.6820 | 1.0724
3° 1 0.0523 | 0.9986 | 0.0524 || 48° | 0.7431 | 0.6691 | 1.1106
4° 1 0.0698 | 0.9976 | 0.0699 | 49° | 0.7547 | 0.6561 | 1.1504
5° 1 0.0872 | 0.9962 | 0.0875 || 50° | 0.7660 | 0.6428 | 1.1918
6° | 0.1045 | 0.9945 | 0.1051 || 51° | 0.7771 | 0.6293 | 1.2349
7° 1 0.1219 | 0.9925 | 0.1228 || 52° | 0.7880 | 0.6157 | 1.2799
&°10.1392 | 0.9903 | 0.1405 || 53° | 0.7986 | 0.6018 | 1.3270
9° 1 0.1564 | 0.9877 | 0.1584 | 54° | 0.8090 | 0.5878 | 1.3764
10° 1 0.1736 | 0.9848 | 0.1763 || 55° | 0.8192 | 0.5736 | 1.4281
11° ] 0.1908 | 0.9816 | 0.1944 || 56° | 0.8290 | 0.5592 | 1.4826
12° 1 0.2079 | 0.9781 | 0.2126 || 57° | 0.8387 | 0.5446 | 1.5399
13° 1 0.2250 | 0.9744 | 0.2309 || 58° | 0.8480 | 0.5299 | 1.6003
14° 1 0.2419 | 0.9703 | 0.2493 || 59° | 0.8572 | 0.5150 | 1.6643
15° 1 0.2588 | 0.9659 | 0.2679 || 60° | 0.8660 | 0.5000 | 1.7321
16° | 0.2756 | 0.9613 | 0.2867 || 61° | 0.8746 | 0.4848 | 1.8040
17° 1 0.2924 | 0.9563 | 0.3057 || 62° | 0.8829 | 0.4695 | 1.8807
18° 1 0.3090 | 0.9511 | 0.3249 || 63° | 0.8910 | 0.4540 | 1.9626
19° | 0.3256 | 0.9455 | 0.3443 || 64° | 0.8988 | 0.4384 | 2.0503
20° | 0.3420 | 0.9397 | 0.3640 || 65° | 0.9063 | 0.4226 | 2.1445
21° 1 0.3584 | 0.9336 | 0.3839 || 66° | 0.9135 | 0.4067 | 2.2460
22° 1 0.3746 | 0.9272 | 0.4040 || 67° | 0.9205 | 0.3907 | 2.3559
23° 1 0.3907 | 0.9205 | 0.4245 || 68° | 0.9272 | 0.3746 | 2.4751
24° 1 0.4067 | 0.9135 | 0.4452 || 69° | 0.9336 | 0.3584 | 2.6051
25° 1 0.4226 | 0.9063 | 0.4663 || 70° | 0.9397 | 0.3420 | 2.7475
26° | 0.4384 | 0.8988 | 0.4877 || 71° | 0.9455 | 0.3256 | 2.9042
27° 1 0.4540 | 0.8910 | 0.5095 || 72° | 0.9511 | 0.3090 | 3.0777
28° 1 0.4695 | 0.8829 | 0.5317 || 73° | 0.9563 | 0.2924 | 3.2709
29° | 0.4848 | 0.8746 | 0.5543 || 74° | 0.9613 | 0.2756 | 3.4874
30° | 0.5000 | 0.8660 | 0.5774 || 75° | 0.9659 | 0.2588 | 3.7321
31° | 0.5150 | 0.8572 | 0.6009 || 76° | 0.9703 | 0.2419 | 4.0108
32° 1 0.5299 | 0.8480 | 0.6249 || 77° | 0.9744 | 0.2250 | 4.3315
33° | 0.5446 | 0.8387 | 0.6494 || 78° | 0.9781 | 0.2079 | 4.7046
34° 1 0.5592 | 0.8290 | 0.6745 || 79° | 0.9816 | 0.1908 | 5.1446
35° | 0.5736 | 0.8192 | 0.7002 || 80° | 0.9848 | 0.1736 | 5.6713
36° | 0.5878 | 0.8090 | 0.7265 || 81° | 0.9877 | 0.1564 | 6.3138
37° 1 0.6018 | 0.7986 | 0.7536 || 82° | 0.9903 | 0.1392 | 7.1154
38° 1 0.6157 | 0.7880 | 0.7813 || 83° | 0.9925 | 0.1219 | &.1443
39° 1 0.6293 | 0.7771 | 0.8098 || 84° | 0.9945 | 0.1045 | 9.5144
40° | 0.6428 | 0.7660 | 0.8391 || 85° | 0.9962 | 0.0872 | 11.4301
41° | 0.6561 | 0.7547 | 0.8693 | 86° | 0.9976 | 0.0698 | 14.3007
42° 1 0.6691 | 0.7431 | 0.9004 || &87° | 0.9986 | 0.0523 | 19.0811
43° | 0.6820 | 0.7314 | 0.9325 || 88° | 0.9994 | 0.0349 | 28.6363
44° | 0.6947 | 0.7193 | 0.9657 || 89° | 0.9998 | 0.0175 | 57.2900
45° 1 0.7071 | 0.7071 | 1.0000 | 90° | 1.0000 | 0.0000
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6902 | .6911 | .6920 | .6928 | .6937 | .6946 | .6955 | .6964 | .6972 | .6981

6990 | .6998 | .7007 | .7016 | .7024 | .7033 | .7042 | .7050 | .7059 | .7067

7076 | 7084 | L7093 | .7101 | 7110 | 7118 | 7126 | .7135 | .7143 | .7152
7160 | 7168 | 7177 | 7185 | L7193 | L7202 | (7210 | (7218 | 7226 | .7235
7243 1 .7251 | 7259 | 7267 | 7275 | 7284 | (7292 | .7300 | .7308 | .7316
71324 | 7332 | 7340 | 7348 | .7356 | .7364 | .7372 | .7380 | .7388 | .7396
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7404 | 7412 | 7419 | 7427 | T435 | (7443 | 7451 | 7459 | .7466 | 7474

7482 17490 | 7497 | 7505 | .7513 | .7520 | .7528 | .7536 | .7543 | .7551
7559 | .7566 | .7574 | .7582 | .7589 | .7597 | .7604 | .7612 | .7619 | .7627
7634 | .7642 | .7649 | .7657 | .7664 | .7672 | 7679 | .7686 | .7694 | .7701
709 | TT16 | 7723 | 7731 | 7738 | 7745 | 7752 | 7760 | L7767 | TTT4

782 1 .T789 | 7796 | 7803 | 7810 | 7818 | .7825 | .7832 | .7839 | .7846

7853 | .7860 | .7868 | .7875 | .7882 | .7889 | .7896 | .7903 | .7910 | .7917
7924 17931 | .7938 | .7945 | .7952 | 7959 | .7966 | .7973 | .7980 | .7987
7993 | .8000 | .8007 | .8014 | .8021 | .8028 | .8035 | .8041 | .8048 | .8055
8062 | .8069 | .8075 | .8082 | .8089 | .8096 | .8102 | .8109 | .8116 | .8122

8129 | 8136 | .8142 | .8149 | .8156 | .8162 | .8169 | .8176 | .8182 | .8189

8195 | .8202 | .8209 | .8215 | .8222 | .8228 | .8235 | .8241 | .8248 | .8254
8261 | .8267 | .8274 | .8280 | .8287 | .8293 | .8299 | .8306 | .8312 | .8319
8325 | .8331 | .8338 | .8344 | .8351 | .8357 | .8363 | .8370 | .8376 | .8382
8388 | .8395 | .8401 | .8407 | .8414 | .8420 | .8426 | .8432 | .8439 | .8445

8451 | .8457 | .8463 | .8470 | .8476 | .8482 | .8488 | .8494 | .8500 | .8506

8513 | .8519 | .8525 | .8531 | .8537 | .8543 | .8549 | .8555 | .8561 | .8567
8573 | 8579 | .8585 | .8591 | .8597 | .8603 | .8609 | .8615 | .8621 | .8627
8633 | .8639 | .8645 | .8651 | .8657 | .8663 | .8669 | .8675 | .8681 | .8686
8692 | .8698 | .8704 | .8710 | .8716 | .8722 | .8727 | .8733 | .8739 | .8745

8751 | .8756 | .8762 | .8768 | .8774 | .8779 | .8785 | .8791 | .8797 | .8802

.8808 | .8814 | .8820 | .8825 | .8831 | .8837 | .8842 | .8848 | .8854 | .8859
.8865 | .8871 | .8876 | .8882 | .8887 | .8893 | .8899 | .8904 | .8910 | .8915
8921 | .8927 | .8932 | .8938 | .8943 | .8949 | .8954 | .8960 | .8965 | .8971
8976 | .8982 | .8987 | .8993 | .8998 | .9004 | .9009 | .9015 | .9020 | .9025

9031 | 19036 | .9042 | .9047 | .9053 | .9058 | .9063 | .9069 | .9074 | .9079

29085 | 19090 | .9096 | .9101 | .9106 | .9112 | 9117 | .9122 | .9128 | .9133
9138 | 9143 | 19149 | 9154 | 9159 | .9165 | .9170 | .9175 | .9180 | .9186
9191 | 9196 | .9201 | .9206 | 9212 | .9217 | 9222 | .9227 | .9232 | .9238
9243 | 19248 | 19253 | .9258 | .9263 | .9269 | 9274 | .9279 | .9284 | .9289

9294 | 19299 | .9304 | .9309 | .9315 | .9320 | .9325 | .9330 | .9335 | .9340

9345 | 19350 | .9355 | .9360 | .9365 | .9370 | .9375 | .9380 | .9385 | .9390
9395 | .9400 | .9405 | .9410 | .9415 | .9420 | .9425 | .9430 | .9435 | .9440
9445 | .9450 | .9455 | .9460 | .9465 | .9469 | 9474 | 9479 | .9484 | .9489
9494 | 19499 | .9504 | .9509 | .9513 | .9518 | .6523 | .9528 | .9533 | .9538

9542 | 19547 | 19552 | .9557 | .9562 | .9566 | 9571 | .9576 | .9581 | .9586

9590 | 19595 | .9600 | .9605 | .9609 | .9614 | 9619 | .9624 | .9628 | .9633
9638 | 19643 | .9647 | .9652 | .9657 | .9661 | 9666 | 9671 | .9675 | .9680
9685 | .9689 | 19694 | .9699 | .9703 | .9708 | 9713 | 9717 | 9722 | 9727
9731 | 9736 | 9741 | 9745 | .9750 | 9754 | 9759 | 9763 | .9768 | .9773

9777 1 .9782 | L9786 | 9791 | .9795 | .9800 | .9805 | .9809 | .9814 | .9818

9823 | L9827 | 19832 | 9836 | .9841 | .9845 | 9850 | .9854 | .9859 | .9863
9868 | 9872 | 9877 | 9881 | .9886 | .9890 | .9894 | .9899 | .9903 | .9908
29912 1 19917 | 19921 | .9926 | .9930 | .9934 | .9939 | .9943 | .9948 | .9952
9956 | L9961 | .9965 | .9969 | .9974 | 9978 | 9983 | .9987 | .9991 | .9996
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